162

WMo ERAE Y F

, 710
WA TRy F
L7
- I
) O O O
) 2 )
k= 1==1 k== él ©
S > —> —> J[[A][ —=— | C— = %
J'E e =\ :
/‘I % | T fit fi | I? IP Eéaﬁﬁﬁ 9
I ’H U U H' ' +12mm T
- [If aont
) : (1]
— . o Py o o - o)
-— o~ - PG ~
i | \
| / Lo off Iz
) ==———==" 0 o
Q] ) — ——D OO} —c — > |O
O o imo |0 O
O O]
O i i e O L q '0) e
S 5 5
O O O % 2
O ol o >
O] Ol O | Ok ]
\¢ 10.9
203
406 376
609
ROARKRYTH AL ERBEO LD T EECERET 3 BA8HYET,
AREA > FEMAZI VBMQ~BRE@EBAAI TRELTHYET,
MR WT62 x HL63 x D37.6 W39 42X | WI95 xH342 x D95 / 5.6kg
g = 3.4kg RS BET2ATE
fSH 42 | 32~T0RET / T9kgE T FARTUABMAF Y MLX 20:4F MbLx 30:4A MLX L0:4A M5X 20:4 M5X 30:L7
a3 M5X L0:4Z M6X 25:47 M6X 40:4Z M6X 55:47 M8X 25:4& M8X 45:4A MBX 60:44
HiEY FLERMMD Y Y v —ML/ M5/ M6/ M8:E L&
o & FLEEM R =4 —:hmaviv:AE Tmmvls:8 1bmmviy:4@ Lmmd L@ LmmA:LE
it B AF—I B LE
72 TI3vYy FORLN SR > )—rF7oh—06E D7y v— 68
WAEyF | W100~700 H:100,200,300,400 6AL > F I&
o RE m%  SANUS 735V T4RTLA
g P - 1/4 VA= XU EEEEEIAT)
B st T4 - B Rev. BIE No.
IC mm 13/10/23 LL22-B1




